[(METH RS EE AQ RV SEEER] (FR25%F10F1BEHE)

E¥iNo.6 — 4

(BGI - A - %)

i BT £% B A0 65m% L E = ik 2
5 3 1,294,453 370,575 28.7
B 481,217 116,948 245
R A W 300,592 69,533 234
N B F 27,323 9,238 33.8
g = A BT 17,393 5474 31.5
B # BT 6,814 2,742 402
e = F BT 14,128 4,665 33.0
i iR # 55,056 10,591 19.4
i K By 33,113 8,707 26.3
% h BT 26,798 5,998 224
" & 227,303 65,321 288
? it # il 99,302 30,297 30.5
ch it + il 93,495 22,168 23.9
0 = 5 il 28,377 10,112 35.7
7 O B H 6,129 2,744 448
ilz] & 137,659 41,408 30.1
B I H 121,493 37,028 30.5
T e & B 16,166 4,380 272
i) 5 131,595 41,641 31.7
— R H 123,611 39,030 31.6
2 |z 5 BT 7,984 2611 32.7
- g 64,169 21,800 340
> X M E T 38,674 12,460 32.3
m g = B W 19,509 6,988 35.8
* H i) 5,986 2,352 39.3
£ Gl 48,153 16,746 348
= a W 36,244 12,786 35.3
& X i i) 11,909 3,960 33.3
i 86,302 29,091 33.7
= = e *H 56,488 18,483 32.7
W | ET 16,124 5,382 334
[ 2 BT 10,094 3,955 392
H % ® # 3,596 1,271 35.3
B 60,142 18,144 30.2
2 2 % W 35,919 10,039 27.9
ot ® it 2,944 1,014 344
- ™ H i 4,327 1394 322
3 5 BT 16,952 5,697 33.6
5 57,913 19,476 33.7
= = B *H 28,571 9,012 31.6
8% % T 9,686 3,402 35.1
= A = # 6,180 2,222 36.0
— =] BT 13,476 4,840 35.9
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